

Name:	A#:	Section:
-------	-----	----------

Solution

$$[3] \quad 1. \int_0^{\frac{\pi}{4}} \sin(x) \sec^6(x) dx$$

$$= \int_0^{\frac{\pi}{4}} \tan(x) \sec^5(x) dx$$

$$= \int_0^{\frac{\pi}{4}} \sec^4(x) \tan(x) dx$$

$$= \int_1^{\sqrt{2}} u^4 du$$

$$= \frac{u^5}{5} \Big|_1^{\sqrt{2}}$$

$$= \frac{1}{5} ((\sqrt{2})^5 - 1) = \frac{1}{5} (4\sqrt{2} - 1)$$

$$[3] \quad 2. \int_0^{\ln(2)} \frac{e^{2x}}{e^{2x} + 1} dx = \int_0^{\ln(2)} \frac{e^{2x}}{e^{2x} + 1} dx$$

$$= \int_2^5 \frac{1}{u} \frac{du}{2}$$

$$= \frac{1}{2} \int_2^5 \frac{1}{u} du$$

$$= \frac{1}{2} [\ln|u|]_2^5$$

$$= \frac{1}{2} [\ln 5 - \ln 2] = \frac{1}{2} \ln\left(\frac{5}{2}\right)$$

$$[3] \quad 3. \int_0^{\frac{1}{2} \ln(3)} \frac{e^x}{e^{2x} + 1} dx = \int_0^{\frac{1}{2} \ln(3)} \frac{e^x}{(e^x)^2 + 1} dx$$

$$= \int_1^{\sqrt{3}} \frac{1}{u^2 + 1} du$$

$$= [\tan^{-1}(u)]_1^{\sqrt{3}}$$

$$= \tan^{-1}(\sqrt{3}) - \tan^{-1}(1)$$

$$= \frac{\pi}{3} - \frac{\pi}{4} = \frac{\pi}{12}$$

$$\begin{cases} x=0 \rightarrow u = \sec(0) = 1 \\ x = \frac{\pi}{4} \rightarrow u = \sec\left(\frac{\pi}{4}\right) = \sqrt{2} \end{cases}$$

$$\begin{cases} \text{let } u = \sec x \\ du = \sec x \tan x dx \end{cases}$$

$$\begin{cases} \text{let } u = e^{2x} + 1 \\ du = 2e^{2x} dx \rightarrow \frac{du}{2} = e^{2x} dx \end{cases}$$

$$\begin{cases} x=0 \rightarrow u = e^0 + 1 = 2 \\ x = \ln 2 \rightarrow u = e^{2 \ln 2} + 1 = 5 \end{cases}$$

$$\begin{cases} \text{let } u = e^x \\ du = e^x dx \end{cases}$$

$$\begin{cases} x=0 \rightarrow u = e^0 = 1 \\ x = \frac{1}{2} \ln(3) \rightarrow u = e^{\frac{1}{2} \ln(3)} = \sqrt{3} \end{cases}$$

or $u = x+1$ also works!

$$\begin{aligned}
 [3] \quad & 4. \int_0^1 \frac{x^2-1}{\sqrt{1+x}} dx = \int_1^{\sqrt{2}} [(u^2-1)^2-1] 2u du \\
 & = 2 \int_1^{\sqrt{2}} [u^4+1-2u^2-1] du \\
 & = 2 \int_1^{\sqrt{2}} (u^4-2u^2) du \\
 & = 2 \left[\frac{u^5}{5} - \frac{2u^3}{3} \right]_1^{\sqrt{2}} \\
 & = 2 \left[\frac{(\sqrt{2})^5}{5} - \frac{2}{3} (\sqrt{2})^3 \right] - \left(\frac{1}{5} - \frac{2}{3} \right) \\
 & = 2 \cdot \frac{4\sqrt{2}}{5} - \frac{4}{3} \cdot 2\sqrt{2} - \frac{2}{5} + \frac{4}{3} = \frac{8\sqrt{2}}{5} - \frac{8\sqrt{2}}{3} - \frac{2}{5} + \frac{4}{3} = \frac{14-16\sqrt{2}}{15}
 \end{aligned}$$

$$\begin{aligned}
 [4] \quad & 5. \int \frac{x+2}{x^2+4} dx = \int \left(\frac{x}{x^2+4} + \frac{2}{x^2+4} \right) dx \\
 & = \int \frac{x}{x^2+4} dx + 2 \int \frac{1}{x^2+4} dx \\
 & = \frac{1}{2} \int \frac{1}{u} du + 2 \int \frac{1}{4(\frac{x^2}{4}+1)} dx \\
 & = \frac{1}{2} \ln |u| + \frac{1}{2} \int \frac{1}{(\frac{x}{2})^2+1} dx \\
 & = \frac{1}{2} \ln(x^2+4) + \frac{1}{2} \int \frac{1}{u^2+1} 2du \\
 & = \frac{1}{2} \ln(x^2+4) + \tan^{-1}(u) + C = \frac{1}{2} \ln(x^2+4) + \tan^{-1}\left(\frac{x}{2}\right) + C
 \end{aligned}$$

$\left\{ \begin{aligned} \text{let } u &= x^2+4 \\ du &= 2x dx \sim \frac{du}{2} = x dx \end{aligned} \right.$
 (conv also sup xino)
 $\left\{ \begin{aligned} \text{let } u &= \frac{x}{2} \\ du &= \frac{1}{2} dx \sim 2du = dx \end{aligned} \right.$

$$\begin{aligned}
 [4] \quad & 6. \int \sqrt{1+\sqrt{x}} dx \\
 & = \int \sqrt{u} \cdot 2(u-1) du \\
 & = 2 \int u^{3/2} (u-1) du \\
 & = 2 \int (u^{5/2} - u^{3/2}) du \\
 & = 2 \frac{u^{5/2}}{5/2} - 2 \frac{u^{3/2}}{3/2} + C \\
 & = \frac{4}{5} (1+\sqrt{x})^{5/2} - \frac{4}{3} (1+\sqrt{x})^{3/2} + C
 \end{aligned}$$